
Practice questions – Year 5 and 6 – Multiplying decimals

1. 201.3 × 4 = (multiplying decimals)

2. 804.1 × 3 = (multiplying decimals)

3. 620.4 × 7 = (multiplying decimals)

4. 24.13 × 3 = (multiplying decimals)

5. 53.42 × 6 = (multiplying decimals)

6. 62.49 × 8 = (multiplying decimals)

7. 2.348 × 6 = (multiplying decimals)

8. 6.291 × 9 = (multiplying decimals)
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Practice question answers – Year 5 and 6 – Multiplying decimals

1. 201.3 × 4 = 805.2 (multiplying decimals)

2. 804.1 × 3 = 2,412.3 (multiplying decimals)

3. 620.4 × 7 = 4,342.8 (multiplying decimals)

4. 24.13 × 3 = 72.39 (multiplying decimals)

5. 53.42 × 6 = 320.52 (multiplying decimals)

6. 62.49 × 8 = 499.92 (multiplying decimals)

7. 2.348 × 6 = 14.088 (multiplying decimals)

8. 6.291 × 9 = 56.619 (multiplying decimals)
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